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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

Animal husbandry is the branch of agriculture -----eeeeceeeeee with animals that are
raised for meat, fiber, milk, eggs, or other products.
1) handled 2) concerned 3) included 4) interfered

Named by Portuguese explorer Ferdinand Magellan, who believed it to be free of
---------- -- storms, the Pacific Ocean is not, in fact, so pacific.

1) violent 2) distant 3) temporary 4) pointless
Animal rights is not just a philosophy—it is a social movement that ---
society’s traditional view that all nonhuman animals exist solely for human use.

1) asserts 2) magnifies 3) distinguishes 4) challenges

If people can raise enough fish on farms, it stands to —-----eeeeeeeee that they will be
less inclined to hunt them from the sea.

1) logic 2) rationality 3) reason 4) attention

The programmer -------------m- an analogy between the human brain and the
computer.

1) drew 2) bore 3) took 4) put

The —-—-—- of the editor’s comments made us think that he hadn’t really read
the manuscript.

1) intensity 2) ignorance 3) tolerance 4) superficiality

The two boys tried to sound -—-—--—--—-—- at the police station, but they weren’t really
sorry that they had herded the sheep into Mr. Ingersoll’s house.

1) resistant 2) impatient 3) regretful 4) indifferent
Though he spoke for over an hour, the lecturer was completely --—-----eeeeeen -- and the
students had no idea what he was talking about.

1) solitary 2) inarticulate 3) curious 4) effortless

For years no one could make this particular therapy work in animals larger than
rodents, but now two research groups have demonstrated its —---- - in dogs.
1) efficacy 2) restriction 3) sympathy 4) vulnerability
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10- The African elephant has become the object of one of the biggest, broadest
international efforts yet —--eeeee to turn a threatened species off the road to
extinction.

1) intruded 2) explored 3) mounted 4) compensated

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Scientists first recognized the value of the practice more than 60 years ago, when
they found that rats (11) =----mmmeemmenes a low-calorie diet lived longer on average
than free-feeding rats and (12) ---sescmemcenen- incidence of conditions that become
increasingly common in old age. (13) -=-=--emeeeeee- ., some of the treated animals
survived longer than the oldest-living animals in the control group, (14) -=-======nnmn-
that the maximum life span (the oldest attainable age). (15) -=--=---eeneun-- merely the
average life span, increased.

11- 1) were fed 2) which they fed  3) fed 4) feeding
12- 1) had a reduced 2) they reduced

3) were reduced 4) that it reduced
13- 1) Although 2) While 3) What is more 4) So that
14- 1) meant 2) which means 3) means 4) it means
15- 1)no 2) nor 3) neither 4) not

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Tawhid is also one of the fivefold doctrines of the Mu'tazilah, as it is also one of the
Asha'irah’s, with the difference that in the case of the Mu'tazilah it specifically means
al-tawhid al-sifati, which is denied by the Asha'irah. On the other hand, the specific
sense of this term as affirmed by the Asha'irah is al-tawhid al-'af'ali, which is rejected
by the Mu'tazila.

Altawhid al-dhati and al-tawhid al-'ibadi, since they are admitted by all, are outside
the scope of our discussion. The conception of tawhid upheld by the Shi'ah, in addition
to al-tawhid al-dhati and al-tawhid al'ibadi, also includes al-tawhid al-sifati and al-
tawhid al-'af'ali. That is, in the controversy regarding the Attributes, the Shi'ah are on
the side of al-tawhid al-sifati. and in the debate on human acts. are on the side of al-
tawhid al'-af'ali. Nevertheless, the conception of al-tawhid al-sifati held by the Shi'ah
is different from the same held by the Mu'tazilah. Also, their notion of al-tawhid al-
‘afali differs from the notion of the same held by the Asha'irah.
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The Shi'i conception of al-tawhid al-'af'ali differs from the one held by the
Asha'irah. The Ash'arite notion of al-tawhid al-'af'ali means that no creature is of any
consequence in the scheme of things, and everything is directly ordained by God.
Accordingly. He is also the direct creator of the deeds of the human beings. and they
are not creators of their own acts. Such a belief is similar to the idea of absolute
predestination and has been refuted through many an argument. However, the notion
of al-tawhid al-'af"ali upheld by the Shi'ah means that the system of causes and effects
is real, and every effect, while being dependent on its proximate cause, is also
dependent on God. These two modes of dependence do not operate in parallel but in
series. For further clarification of this subject see my book Insan wa sarnewisht ("Man
and Destiny").

According to paragraph 1, the Mutazilah and the Asha'irah

1) disagree on the concept of Tawhid

2) both adhere to the same central doctrines

3) offer similar interpretations with regard to al-tawhid al-sifati

4) consider al-tawhid al-'af'ali to be the particular meaning of Tawhid

The word "it" in paragraph 1 refers to ——-—-meeeeev,
1) Mu'tazilah 2) Tawhid 3) difference 4) Asha'irah
It is implied in paragraph 2 that the passage only discusses ------=-eeeeee- =

1) the fivefold doctrines of the Mu'tazilah

2) al-towhid al-dhati and al-tawhid al-'ibadi

3) views of the Mu'tazilah and the Asha'irah

4) the areas of disagreement regarding Tawhid

According to paragraph 3, the Asha'irite view of al-tawhid al-'af'ali ----——-ceeeeuv .
1) cannot be easily rejected

2) is similar to that of the shi'ah

3) can be regarded as absolute predestination

4) considers humans the direct creators of their acts

The shi'i conception of al-tawhid al-'af'ali assumes —=----—-aeeaeeee,

1) two modes of dependence for every effect

2) God to be the absolute cause for all deeds

3) that human deeds are only dependent on humans

4) a system of cause and effect in which the causes work in parallel

PASSAGE 2:

Theoretical 'irfan is concerned with ontology. and discusses God, the world, and the
human being. This aspect of 'irfan resembles theological philosophy (falsafeh-ye ilahi).
which also seeks to describe being. Like theological philosophy. 'irfan also defines its
subject, essential principles and problems, but whereas philosophy relies solely upon
rational principles for its arguments, 'irfan bases its deductions on principles discovered
through mystic experience and then reverts to the language of reason to explain them.

The rationalistic deductions of philosophy can be likened to studying a passage written
originally in the same language: the arguments of 'irfan, on the other hand, are like
studying something that has been translated from some other language in which it was
originally written. To be more precise, the "arif wishes to explain those things which he
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claims to have witnessed with his heart and his entire being by using the language of
reason.

The ontology of 'irfan is in several ways profoundly different from the ontology of
philosophers. In the philosopher's view, both God and other things have reality, with the
difference that while God is the Necessary Being (wajib al-wujud) and Existing-By-
Himself. things other than God are only possible existents (mumkin al-wujud), existing-
through-another, and are effects of the Necessary Being. However, the "arif's ontology has
no place for things other than God as existing alongside Him, even if they are effects of
which He is the cause: rather, the Divine Being embraces and encompasses all things.
That is to say. all things are names. qualities, and manifestations of God. not existents
alongside Him.

The aim of the philosopher also differs from that of the "arif. The philosopher wishes to
understand the world: he wishes to form in his mind a correct and relatively complete
picture of the realm of existence. The philosopher considers the highest mark of human
perfection to lie in perceiving. by way of reason, the exact nature of existence, so that the
macrocosm finds a reflection within his mind while he in tum becomes a rational
microcosm. Thus it is said when defining philosophy that: [Philosophy is] the (final)
development of a rational knower (‘alim) into an actual world (‘alam).

What is the main function of the passage?

1) Discussing the similarities between 'irfan and philosophy
2) Examining the world from an ontological perspective

3) Explaining what the "arif believes about philosophy

4) Contrasting 'irfan and philosophy

According to paragraph 1, "irfan uses arguments -—------eeeeeeeee,
1) as a tool for solving its problems 2) to explain its rational principles
3) to support its mystic discoveries 4) as the basis for its principles

Why does the author mention translation in paragraph 2?

1) To explain how the "arif studies foreign passages

2) To illustrate the nature of 'irfan's arguments

3) To name one of the minor tasks that the "arif undertakes

4) To show that the 'arif does not only rely on his first language

According to paragraph 3, the philosophers agree with all of the following EXCEPT

1) all things have reality

2) God is the Necessary Being

3) nothing is existent alongside God

4) things other than God do not exist by themselves

The passage considers the aim of philosophy to be ~———----eceeeeeee,
1) becoming connected to the reality of existence

2) perceiving the nature of existence

3) understanding human perfection

4) studying the Necessary Being
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PASSAGE 3:

The expression sufism (tasawwuf), which, according to the most likely possibility, is
derived from the word suf (wool), meaning wearing woolen garments. which symbolizes
the hard life far from comforts and hedonism, is more appropriately used for practical
gnosis, as the term gnosis (‘irfan) is more appropriate to theoretical gnosis.

In this way, in the realm of gnosis, at least three elements can be identified. One is the
specific practical instructions which are alleged to lead man to intuitive and interior gnosis
and conscious knowledge by presence related to God, the Exalted. and the Most Beautiful
Names and His sublime attributes and their manifestations.

The second is the specific spiritual and psychic states and traits of character. and
ultimately, the unveilings and witnessings achieved by the wayfarer. The third is the
propositions and statements indicating these intuitive direct findings. and even for those
who personally have not travelled the path of practical gnosis, can be more or less
understood, although finding their truth and essence is specific to the true gnostics.

By attending to these explanations it becomes clear that the true gnostic is the one who
follows a specific practical programme and attains an intuitive and direct gnosis of God.
the Exalted, and His attributes and actions. Theoretical gnosis is. in fact, an account and
interpretation of this gnosis, which, naturally, has many shortcomings.

If we are not very exact about the terminology and expand its scope we can use the
term gnosis for all spiritual wayfaring which is undertaken to find the truth and attain
felicity, as well as the resulting spiritual states and witnessings. In this way. gnosis will
include even the kinds of gnosis found in Buddhism and Hinduism and the gnosis of some
of the tribes of Siberia and the native tribes of Africa, just as the term religion may be
applied. with the same sort of extended meaning Buddhism, totemism. and the like.

According to paragraph 1, the best term for practical gnosis is -=------=eeeeeue "

1) 'irfan 2) wool 3) hedonism 4) sufism

Which of the following is NOT identified in the passage as an element in the realm of
gnosis?

1) Certain suggestions and statements 2) Certain states and characteristics
3) Findings through travel 4) Practical instructions

The word "attains" in paragraph 4 is closest in meaning to —----eceeeeeeen,

1) perceives 2) achieves 3) constitutes 4) establishes

The author seems to believe that theoretical gnosis
1) is by no means flawless

2) is the philosophical aspect of gnosis

3) offers a programme for the Gnostic to follow
4) provides an accurate interpretation of practical gnosis
Which of the following can be understood from paragraph 5?7
1) Generally, the term gnosis can go beyond sufism.

2) The scope of the term gnosis should be expanded.

3) Gnosis originally refers to Buddhism and Hinduism.

4) It is not easy to achieve spiritual states and witnessings.
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